Spelling Arithmetic 16x10 = 200+ 0 = 5000m = _ ___km

damaged

danced

decided

refused

Blocked
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a). Put a tick in each row to show weather a sentence is a 1. Look at the clock. > =
statement command or a question. : %
: What will be the time after 2 and half hour? .4 TR

Statement Command Question " -

How are you
Go to bed

| like horse riding

b). Look at this sentence:

The shopping list said he should buy bread, butter, jam and tea.

What is the name of the punctuation mark that is used after
the words ‘bread’ and ‘butter’?

c) Why is this punctuation mark needed in the sentence
above?

Tick one.

to mark the start of a new sentence

to show that a word is missing

to separate the items in a list

to take the place of brackets
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2. Look at these signs.

[ > <

Use the correct sign in each box.
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3. Sara has 80p.
She spend % of her money buying a pack of crisp.
How much does she left?
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